(Ei3Yb L% / HOT-WIRE TYPE THREAD TRIMMER )

INSTRUCTION MANUAL / PARTS LIST

AEUREHBAEIX. AMS210DHLE350SZALE [CDLWTOHRETY,

FH(CAHAD AMS-2 10DHL-6300 U AMS-2100 OBUREHEFEZED ZRECDVTOD

EEEHR] 5. TOEROLETIERILEE,

Fro. RO FRICMREERLTLWETOT, THIEBCDOVWTERLET L,

© MEBHE KEMLF DR T OTCKNEERH SR AUIOEMICRBRFEEMNGEIIENT
LS,

@ AUDRICENEELT T BRICHEEEEERETEDIREEAEINDBER. TOE
ZRDOFVRIC T SERES L,

@ FEMEAPICRPEIEENCES. R2 LEMAL R N, BRN7T & TR W
KL TVET . DFD. RUDBTELVNZ LLHDET,
B8, RINBHIETIEHERE OFF CRELTHDLET.

CAUTION :

This Instruction Manual is the Instruction Manual for AMS-210DHL6350/AL6.

Read “Safety Instructions” described in the Instruction Manuails for AMS-210DHL-6300 and

AMS-210D packed together with this machine and fully understand them before using your

AMS-210DHLE6350/ALS6.

In addition, be careful of the following items since since hot wires are used for thread trimming.

(D Never allow your hands to come near the thread trimming place since the hot wires become
very hot when they are heated.

(@ Smoke occurs at the time of thread trimming. Be careful that you do not breathe in the smoke
when using thread which occurs harmful smoke for the human body.

3 When the sewing machine is temporarily stopped during hot-wire heating, immediately heating
is interrupted for safety and heating is not performed until the sewing has been completed.
After all, thread trimming is not performed.

In addition, thread breakage detector has been factory-set to OFF at the time of delivery.

No.1301-00
29347804

From the library of: Superior Sewing Machine & Supply LLC



L BB B e e s e s
LR 2 OO OO OT T
2. L BB v e e bbb b bad
L. fRIFFAER .ot e sa s s et s bee s e s et st s asnnnns 5
T. ESREDDAIBTAEE ..o s ss s sasssessssasssenes
2. TREEDHUBDIE ..o sessrsessssesssssesons
3. EREBOHUBDTATE ..ot sessssesssss s ssssssssssssase
4. FAUDTTA FDIEE ... st sestmsessresen e
5. FATIDBREIEIED.....ccoereee s
5-1. BRIT—FATIFIE (0071, O02) coocrvccrcirecrcrcrirmnnnerencresssssssssesssesessens veerne 11
5-2. ERT—YANFIE (010, 020) i 12
B. I T [CDOUYT e e e seresssasssssssssssssesessoreses 15
7. FDHIDTEG ..o crceerrsnsnssnsmssss st ssssssssssssssessssssssssosssnssenes 16
M. T T s ees st sssssesessss st essessessssessssssssssessassessans 20
V. T7—ERBE cooorceerecereemnereensseesness s ssssesssssssassssssanss sessssessmsssssessnns 21
V. IV U R et vssceire s scss s b seessss e sesesssasessssanssssssssssesenss 22
CONTENTS
I. QUTLINE ..o s nenss s nessssssasessssnssansssssssnssassssnnsssans s ssanas
I =T T T =
2. Specifications ... G s e
I. MAINTENANCE AND ADJUSTMENT ... cicriicscnmenmsmns s ssnsssnnsas
1. Adjusting the needle thread trimmer position........cciiniicsiissisiissnieen
2. Adjusting the bobbin thread feeding amount..........o i
3. Adjusting the needle thread feeding amount ...
4. Adjusting the thread trimmer guide ...
5. Thread trimming drive control ... s 10
5-1. Sewing data input procedures (001, 002) ........cccuerrcrmrircreririrerrmsineessncessnnenns 13
5-2. Sewing data input procedures (010, 020) .......ccccccrimninnicnnicnmms o 14
S T 1 o T N 15
7. Other troubles.....cir i e s 18
II. BLOCK DIAGRAM.....cciimriirrmmececisissmnnnseresnsnenssssssssnsn s s msmsssssssensansnsnnes 20
IV. AIR PIPING DIAGRAM ......ciiiiiiricsmnesissses s snnnssssssssnsnsssssencscases 21
V. PARTS LIST iiiircimimremmemecsiiscnenetnsnsasanssssesssismninssssssessscsmsmssnn s smnnnassssnns 22

From the library of: Superior Sewing Machine & Supply LLC



(I.88 2/ OUTLINE )
AEE, AT RERIFTEERD AMS-21 0DHL-6300 [CE#RE — ¥ —XXORVID REEEE LS
EEDTVET,

This sewing machine is a sewing machine provided with the hot-wire type thread trimmer to the siide thread
take-up type AMS-210DHL-6300.

( .HE )
O HRE—5—IAICED, ABFCHEBICYMTRETT,

@ RUDORKEAERAERFICNU CTEEREYRETT .
(BUSODIEGRIAIE. ABHIMIFEEIC TRREEDHICE, BRI TR SOMELOIEE,)

@ REBDPUCUMTDCEICED. RIEFDNMHUEHRERLNFONET,

@ FREODOHDENR, BLIRODSDRDPMELTEHET
(EARDBIEICEDETDORDURITHEG, BOLRDDERIZO NI TEHET )

® BLEDDOARKRDEDNARANARTID ICHASHI 1/2 MR EDARLIE2TVERT,
FEROBNBTIENAETT,)

® BLOARVOEHY A Z 2 T ERBARDICTERRERRETT,
(BRG] - TREID— EREDHU— ERYD) | EFERENE,
(EEEEH 1 - EREDHU— ERYID—-TRUD) | FROSFEREBIER,
(BT L - EREDHUL— ETREERTID) IEGRES [ LOARYIDEEHIEN,
(HERERL - PAUD—-EREDHRL) D RROBIN

@ B A RICHDBREMANDBEN VEDBILETEX T,
(it FES RS DBBRERRTHCEICKD, B, RRMEMICHNDSOERITIET,)

HERMAZAIAYID ZED FHTTEE.
(REFHAEN RED A N —— N E T OFFEATRTEFY,)

@ BIRREREDERON 1/2 ITEHEINCR, BEERICBITHEEENm ELTVET,




(1. Features

(D By adopting the hot-wire heater, thick thread can be easily cut.

@ Thread trimming time can be optionally set in accordance with the thread count.
(Start of heating the hot-wire can be performed during sewing or after completion of sewing by optionat
external output setting.)

(@ Thread is cut by fusing, and it is effective to prevent thread from fraying.

@ Bird's nest at the start of sewing can be reduced since the needle thread remaining on the needle is shorter.
(Needle thread remaining at the start of sewing can be reduced since thread is hard to come out from the
needle eyelet because of the needle thread resulted in a ball by fusing.)

(& The amount of thread remaining on the needle at the end of sewing is reduced by less than 1/2 as compared
with our moving knife type thread trimmer.
(The after-treatment process of remaining thread is not necessary.)

(8 Respective thread trimming drive timings can be optionally set by the external input/output.
(Standard setting example  » Bobbin thread trimming — needle thread feeding — needle thread trimming)
: Amount of remaining needle/bobbin threads is small.
(Optional setting example [ » Needle thread feeding — needle thread trimming — bobbin thread trimming}
: Ameunt of remaining bobbin thread only is secured.
(Optional setting example I « Needle thread feeding — simultaneous thread trimming of needle/bobbin
threads)
: Thread trimming time to cut thread is shorter than that of the optional setling example |,
{Optional setting example I » Bobbin thread trimming — needle thread feeding)
: Bobbin thread only is cut.

@ The hot-wire guide can prevent sewing material from being fused.
(The direct contact of the hot-wire with the material can be avoided by securing the interval between upper
surface of material and the hot-wire.)

Both the conventional moving knife type thread trimmer and this one can be used.
(The standard throat plate asm. and standard wiper set can be replaced.)

(@ Working property in sewing operation is improved since the whole hot-wire device is miniaturized by
approximately 1/2 as compared with the conventional one.

From the library of: Superior Sewing Machine & Supply LLC



(.t )

® RPY - REUF—RZ 1 AMS210DHLE300 DA S4 REUAHES B, 1.8/ES

@ HREYD D ETREREI (TR Y S/ UERE)

® & B R D EAHT (2250 FZILRIROEERR)

@ @ A & C DPX17 #2614 (#22 ~ 26, Nm 140~ 230)
® A 73y O BE="EFH (040120 10NAH)

O Z—FIbo—5— (B4720221DA0) [bCEBEAENLE. NEIR]
O ¢ 35 EINAA K (D4002D10NOK)

OBEH3x44 (D4021D10POP)

O % IFE 945 (D4002D 10NOH)

O AHRA TR (D4018D10POPA) (ZIF] B)

® fg X
HAEIDRSR R 1.5 sec (EERE) [U—EAF 0 X7 007 | AU0D O HETNEABIA]
(KRR R AR (ZIED A) ERBSE. REMBRRERA 2.5 sec DINEST]
[ACRATEER (ZIED BY (ERIRHE. #ENBRRIEX 3.0 sec IREST]

@Dm B
FEORS £=1mmET CREID A FOREBICEDERLET.)
T =2 mmBT (BREMOBSPESICLIDERLET.)

fogic i

HREPEANCHEM T, RENI—(1E,

ENRERODIEMBIER IEDA, HEREE. (KUY —DZEREIF. 0.25~0.28 MPa)
OF - 2

FERIRIFBRIERT. BOSERZEENE 9D EREDHUEERL Y 5 —E51H,

THROBHICHEREROEAEZHBOTEES UL HRED H UER.
IrF—HEE

3.6 N ¢ /min

% ATvavOI—RILo—S—FEROEBEE. JULVTERREGBN 2 /min

[Ty t-—lEk. 750W (1 1) BLEOBOZEERTIL.]

From the library of: Superior Sewing Machine & Supply LLC



(‘2. Specifications = )

(1) Bobbin * bobbin case :

@ Thread trimmer
(3 Applicable thread
@ Applicable needle
& Optional

® Efficiency

Equivalent to the slide thread take-up type AMS-210DHL-6300 for 1.8-fold capacity
hook

: Up/down independent drive type (optional timing seeting type)
: Max. #1 {(chemical fiber system thread within 2250 denier)

: DPx17 #26 (standard) (#22 to 26, Nm140 o 230)

(O Thread tension No, 3 asm. (D4012D10NAH)

(O Needle cooler (B4720221DAQ)  [Solenoid valve, etc. required.
See V ]

O ¢ 3.5 needle hole guide (D4002D10NOK)}

() Oval needle hole guide 3 x 4.4 (D4021D10POP)

(O * Standard ¢ 4.5 {D4002D10NOH)

O Lower hot-wire for thick thread (D4018D10FPCOPA) [Engraved mark B]

Thread trimming time : Standard 1.5 sec {(optional setting) [Service disk 001 : starting heating 9 stitches
before thread trimming]

[When the lower hot-wire for standard (engraved mark A} is used, total heating time within max. 2.5 sec
should be strictly obeyed.]

[When the lower hot-wire for thick thread (engraved mark B) is used, totai heating time within 3.0 sec
should be strictly obeyed.]

@ Quality

‘Length of remaining thread : Needle thread = less than 1 mm

Safety

(It varies in accordance with the adjustment value of thread trimmer guide.)
Bobbin thread = less than 2 mm
(It varies in accordance with hardness or thickness of sewing materials.)

Periphery of the hot-wire is provided with insulating materials and protecting cover.
Air regulating valve is provided to protect hot-wire sections from destruction by contact.
(Air pressure to up/down cylinder : 0.25 to 0.28 MPa)

(® Functions

Needle thread feeding amount adjustable type cylinder is provided in order 1o prevent needle thread from
slip-off and to reduce bird’d nest.

Adjustable type bobbin thread feeder capable of adjusting the amount of remaining thread required at a
minimum of amount to knot bobbin thread is provided.

Air consumption
3.6N £ /min

% When the optional needle cooler is used : 656 N £ /min when valve is fully opened.
{Use a compresser of 750W {one horse power) or more.]

From the library of: Superior Sewing Machine & Supply LLC



(I . {2575 / MAINTENANCE AND ADJUSTMENT )
(1. EARYIDGIETIEE / Adjusting the needle thread trimmer position )
(BT OBE L > TRSHBLET.)

(Adjust the height in accordance with the thickness of material to be sewn.)

Joe K | FEOEHICLDBHEHCH, BERU. T7—BRETD. BENTIVERA TOEING
yin o) Y PR iy

WARNING :

Turn OFF the power, cut the air supply, and ascertain that the sewing machine does not run even
when depressing the starting pedal before starting the work so as to prevent accidents caused by
abrupt start of the sewing machine.

TV SEEEEIC. X ELSIEARLT IEEL,

1) I7—%&hFEEd,
(UF2LY—EEOICLET.)

2) EHRL@EEHET,

3) BEDEHL@F 2 EFEHEd,

4) R0 RSO EY VY —2A RO—2 TV R
F B IE LRI T, S PRI
E3ICULET,

ZFUT. @EOEHOREL T EATNRES
thE FFEUET .

5) Fb—5—BEODLHOEHBONNIEOD

— B3 ESCRUGICTHEELET.

6) FEICOs@DRLIBLEHEET .

7) @Q@DIBERNA =5, £FIHRACO
FHD. RIC. BEDFEHFAUOE 2 EFFED
=7,

# Remove the intermediate presser once before
adjustment,

1) Exhaust the air. (Set the regulator value to “0".)

2) Loosen setscrew €.

3) Loosen two fixing knob screws @ .

4} Adjust the needle thread trimmer so that it comes
in contact with the top surface of the material in
the state that top end portion @ of the thread
trimmer is stretched to the cylinder stroke end.
Then turn adjusting knob €b to move the whole
needle thread trimmer unit up and down.

5) Adjust with screw @ so that top end @ of upper
heater rod @ fits center position & of needle @ .

8) At the same time, adjust the center position of @
to thatof @ .

7) When the positions of @, @ and @ are adjusted,
tighten setscrew @, then tighten two fixing knob
screws @ .

J

N

From the library of: Superior Sewing Machine & Supply LLC



(2. FRIERDHUEDOFHE / Adjusting the bobbin thread feeding amount )

(PROGEICHESBEROREV F—ANSORZEDRIZHBLET. BOEFEEN
ELET)

(Length of the remaining thread from bobbin case required at a minimum of amount to
knot the bobbin thread can be adjusted. It is purposed to reduce the bird’s nest.)

VIRIRTIT > TS,

WARNING :

Turn OFF the power, cut the air supply, and ascertain that the sewing machine does not run even
when depressing the starting pedal before starting the work so as to prevent accidents caused by
abrupt start of the sewing machine.

f} {jzﬂﬁﬁ FEORIICEDENEFHCH. BERY. IP—HREYD. BE~Y ILERATEEN
Ia%\

4 Y D @O UEESETD,
= 2) @D TREDHURZ®  @HmICRELET,
* PHETTHROBOHUENELHEDERY,
(REVT—ADSORARBNEEDET )
¢ @LETHROEDHUENMELHEDET,
(RET—2AD B OEARENMELHEDET )
3) /ENRLOESODIEDRUERDEY .

T © DUEDRUL OOTRRDENILIC
By ) EERLTIREL,
BN D SHSRE VB Hh T

1) Loosen setscrews @ .
2) Adjust bobbin thread feeding plate @ to direction
_ Y. Dor@.
@ Bobbin thread feeding amount increases in
direction Q.
(Amount of the remaining thread from bobbin case
increases.)
® Bobbin thread feeding amount decreases in
direction ® .
{Amount of the remaining thread from bobbin case
decreases.)
3) When the adjustment has been completed, tighten
setscrews @ .

Be careful that setscrews @ do not come
in contact with lower hot-wire . Heating
speed is delayed if they come in contact
with each other.

From the library of: Superior Sewing Machine & Supply LLC



(3. E#i#@b HUE D / Adjusting the needle thread feeding amount )

(ERDIEHICHBRREROHNDSORARDRTZRELET ROBRZENE LET.)
(Length of the remaining thread from needle eyelet required at a minimum of amount
to knot the needle thread can be adjusted. It is purposed to reduce the bird’s nest.)

o= L | FTROBHICEIBRER A, BERY. T7—HSEYD, BENYILEBA THENE
R | iieso ooz,

WARNING :

Turn OFF the power, cut the air supply, and ascertain that the sewing machine does not run even
when depressing the starling pedal before starting the work so as to prevent accidents caused by
abrupt start of the sewing machine.

4 N

1)
2)
3)

4)

5)

3)

4)

EREBOBLY UV I—DA by - H@ZEFTRLUTIFET.
FREOBUBICELDEHRODBODHUSEHELET . (D=31 mmTEHRXDEE 18 mmEiE)
HAOOEOHUEEZ LT DI DOERELZLUEY. ZDF. @D Y MEEDHPELNELEK
T, PHLTBHEEE. HCELFT. DOBRENREI OO TOEBELET.
EHOESICINUT, TREDIHUODR MRIRD R &ttt TEm@D SDESEEERLET,
BigHc, THHEARE, i tmhrosOasH =12 mm ZERICHEEGLTVET,

FTF. @DIEHRAL 2 A %D, ODRNEZ L FERL. fEESHERELEY.
SRICOONUEEELET. BB, OF. AT avD—RILo—S5—-EEFHARUTY.

RIC, @OREEZE EMARBULILICED. #ROODBEDEUVENZDDIRIDT. @GDiEHAL
ARCTEAREDH URE2HE L TEBLET,

DEFTHBLUCAL—X(C L TE#T D LM LEDS L THRBET 2 TIIEEL,
ZORISS DB DD H5E(E. @C@DIEHRUICTHEIIZEL.

Press down by hand stopper shaft @ of the needle thread feeder cylinder.

Check the feeding amount of needle thread @ by needle thread feeder @ .

{in case of D=31 mm, the remaining amount of needle thread is approximately 18 mm.)

To increase the remaining amount of needle thread, increase the distance of D. At this time, foosen nut @ and tumn
it counterclockwise. To decrease i, turn the nut clockwise. When the distance D is determined, fix € with @ .
Secure the distance from the top end of needle thread feeder @ when it is in the lowest position to top surface @
of the material in accordance with the thickness of the material.

incidentally, the height from the top surface of throat plate H is sat to 12 mm as standard at the time of delivery
from the factory.

First, loosen two setscrews @, adjust installing base @ by moving it up or down, and set the optional height H.
Finally, tighten setscrews @. In addition, @ are screws used both for setting the installing base and for fixing the
opticnal needle cooler,

Next, adjust the whole needte thread feeder unit with four setscrews @ by moving it up or down since the feeding
amount of needle thread @ changes by adjusting installing base @ by moving it up or down.

Press @ by hand and check that it smoothly moves up or down to perform the up/down adjustment. At this time,
when it does not move smoothly, adjust it with setscrews @ and @ .

7
From the library of: Superior Sewing Machine & Supply LLC



(4. #1071 ROFEE / Adjusting the thread trimmer guide )
CREIDRICH DERNE FED S DRIZD BORE, RUBRIC K DBHEM~OBED
LkaitZBRELET )

(Amount of remaining thread from the top surface of material to be sewn after thread

trimming can be adjusted. In addition, it is purposed to prevent the material to be
sewn from being fused by the hot-wire.)

o B | FTROEBICSZERER <R, BERY. I7—IaRYD. BB ILERATHEING
IE:%\ WIREEGIT > TR EL,

. WARNING :
> Turn OFF the power, cut the air supply, and ascertain that the sewing machine does not run even
i when depressing the starting pedal before starting the work so as to prevent accidents caused by
' " abrupt start of the sewing machine.

4 Y 1) @DHBIRTODEAEY DT, @D ME
BETHFNEL S ITRID A+ R@®ICT h ORI
ERIREUETD,

FT. QDILEHNRU 2 KEEDHEY,
2) OF L TAT4 FEECHERBNCER L&Y,
3) hDMBARFE I @EFHDET,

(h=0 HTETEE)

¥ _ERORYIO A1 RO @BSDEEZERMRLE
FHRODBEDTY .

1) Clearance “h” is secured by thread trimmer guide
O so that material @ cannot be fused when needle
thread @ is trimmed with hot-wire plate @ .

First, loosen two setscrews €.

2) Slide @ up or down to adjust “h” to the optional
clearance.

3) Tighten @ when clearance “h” is determined.
(h=0 is possible.)

% Upper side thread trimmer guide @ is for preventing
@ itself from being deformed.

From the library of: Superior Sewing Machine & Supply LLC



(5. AybEEEE )
(TIBHERSE. AUTUEHIZ OFF ICKTWVWET,)

AUIOREHEIL, TANTHBEDICRDBRRT—F HITITWET,
B-1FEB-208RT —I AHFIR NUOHNBOY—ERAT 1« RO F—F#SE(CL TRV ORI T —
FEERLUTLIREV. B8, BRIERAINUTTRD 4 BROBET - HBAHETNTLET,

o U— ML MER - PEXELDES
@® J{¥—>No. 001
RUIDISREZEE Y DALVRT, AREDEEEID S MRZERG LI WEEORUD ST — 5]

@ JX¥—2/No. 002
CREUIDESEIZZUELART, BRETERD SMAZRBLUVESORMDHIET—5]
% @QORYIDREHT —YOHHABERESOHAMRREDET,

FaaiiaErs <. MRS 2.5 sec #BIHNESC LTLREEL,
ZNLLE (3 sec L) OIBAE. ARATREDAI018D10POPA EEALET .
o —fREMIDEES! - RIEZ B HDES

ESREBO W UERENER, ROEAD D, X DREETIHARDEAGIROEA BN, RUDERDZE
T, $RRIDEEVSEWVWEGHH0EY . TOEBGE. FONEF -2 @R UET,

@ J{& =2 No. 010 (TIBHERIC BT DRVRAT —5)
JXF—2No. 001 OEEFHFRICHUTEMEODRULOY A 2/ TEEELZBOTT,
@ O SHEIMAGNE — TRUIDADE - R — FREBEDHMURNE - 88 — EARUIDARE - &R
@ O BHEINAGHS — TREIDERE - R — FPREBOHURNE — ERYIOBNE - #IR
— FREODHUERER
@ /{&—/No. 020
INZ—2 No. 002 OBEFIETHU T ERBEORULDYA I/ I ZEBLICBODTY,
@ EEERERIIEETS — TREIDENE - BE — ERBROHURNE - B8R — ERYJOANE - &8
@ BEREMNAGEG — TAUDELRE - B8R — EREBODHBEUINE — BRUIDANE - %R
— FREDHRUER
x A (OANIF2) & BE b ETFRUDEEDOY U VY (S UBEZ#RT D ROBDTY,
BRT—IORVEREBICATUET,

o AHIETF F—7—1FREE. 1 AORUDICBVWCEL 28D T IY Y REAALET,)
MHERAS (Ext Input) = BBFNo. 2 (VU F—rH—iad)
AMERE (Ext OQutput) = M No. 4 (SREDH URDE - #iR)
HERHH (Ext Qutput) = imF No. b (ERYVIDATE - &R)
=N
N

AErH (BExt Output) iHF No. 6 (E—~—8B&E ON - OFF)
SErH o (Ext Qutput) i No. 8 (FRUIDANE - #iR)

From the library of: Superior Sewing Machine & Supply LLC



(5. Thread trimming drive control )

(Thread breakage detector has been factory-set to OFF at the time of delivery.)

Al thread trimming drive controls are performed with the sewing data input procedures by means of the external output.
Create the thread trimming contro! data referring to 5-1 or 5-2 Sewing data input procedures and the attached service
disk data. In addition, the following four kinds of reference data are inputted in accordance with the sewing conditions.

@ |n case of exclusive for seat belt without intermediate presser

(D Pattern No. 001
[Thread trimming control data in the case where the thick thread which requires thread trimming time is used and
heating is desired to start from several stitches before thread trimming. ]

@ Pattern No. 002
{Thread trimming controf data in the case where the thread which does not require thread trimming time and
heating is desired to start immediately after the completion of sewing.]

% Thread trimming control data (2 improves more the durability of the hot-wire plate itself.

To prevent the lower hot-wire from being broken, set the total heating time to less than 2.5 sec.
In the case where the time is more {within 3 sec), use the lower hot-wire for thick thread, D4018D10POPA.

e In case of sewing of general materials with intermediate presser

There is a case where needie thread falls in the approaching direction of hot-wire plate by the influence of twist of
thread or intermediate presser after needle thread feeding drive, thread trimming place is not stabilized and slip-off of
needle thread is apt to cccur. In this case, apply the control data described below,

@) Pattern No. 010 (Sewing sample data at the time of delivery from the factory)
Needle thread feeding timing in terms of the drive procedure of Pattern No. 001 is changed.
{1 : Starting heating from 8th stitch before thread {rimming ~ bobbin thread Yrimmer forward/backward
— needie thread feeder forward/backward — needle thread trimmer forward/backward
(@ : Starting heating from 9th stitch before thread trimming — bobbin thread trimmer forward/backward
— needle thread feeder forward — needle thread trimmer forward/backward — needle thread feedsr backward

@ Pattern No. 020
Needle thread feeding timing in terms of the drive procedure of Pattern No. 002 is changed.
(2 : Starting heating after sewing -+ bobbin thread trimmer forward/backward
— needle thread feeder forward/backward — needle thread trimmer forward/backward
@ : Starting heating after sewing — bobbin thread trimmer forward/backward - needle thread feeder forward
— needle thread trimmer forward/backward — needle thread feeder backward
# The external input (input terminal 2) is to check the waiting positions of the cylinders for needle/bobbin thread
trimmers for safety. This Is inputted to the first and the last of the sewing data.

o Input/output terminal (Input two times each of the following commands at one time of thread trimming.}
External input (Ext Input) = Terminal No. 2 (Cylinder sensor detection)
External output (Ext Qutput) = Terminal No. 4 {Needle thread feeder forward/backward)
External output (Ext Output) = Terminal No. 5 (Needle thread trimmer forward/backward)
External output {(Ext Output) = Terminal No. 6 (Heater ON/OFF)
External output (Ext OQutput) = Terminal No. 8 (Bobbin thread trimmer forward/backward}

et M

10



LL

(5-1. #8F—5AHFIE (001,002) )

% HEBRNREE 1,200 rpm

% $EBGERE 1,200 rpm

Fim @ IXF~-2 No. 001 (PGM20) E B @ INF—2/ No. 002 (PGM 20)
i & &
1 B R A ] - -
2 RO 2 - -
3 2 B 3 - -
4 HEAS2 12) T — R EREER 4 — —
3 TEED BRUIREE AT g — -
8 % (P=3.8 mm) WLAD B — —
7 AEEH B 0 8) U0 O SHETIAARIE 7
8 B (P=3.8 mm) WLAD 8 — —
9 FED (C) RYIDEZSON 9 - -
10 10 SERHS B DFREEE
il T loof on 100 msec 11 Foa ot 500 msec
12 MERH 8 (0 8) TRED O RED (Bi3E) 12 - -
13 THREOF oL (D5 500 msec 13 - -
14 HELHT 8 (0 8) TR0 BREL (#R) 14 - —
15 A4 04 LSRR I LR (i) 15 — -
16 TFalA (D 2) 200 msec 16 - -
17 A4 {0 4) RO DR (i) 17 — e
18 T LA on 100 msec 18 - —
18 A5 (0 5) A0 ERE) (BTE) ke - -
20 IRUIDT 4 L D5 5C0 msec 20 - -
27 SHEfEh B (0 5) A0 IRED (#:R) 21 — -
22 SEREFI 6 (0 8) il 22 -~ -
23 AR 2 12) IR ST 23 - -
24 TFabA D1) 100 msec 24 - e
25 &y &2 RaEiR 25 -~ -
INFAEERS T4sec+ o INFRESRD 1.8 sec
FED D BEAS R 1.5 sec FHI0 HEEERT 1.9 sec

From the library of: Superior Sewing Machine & Supply LLC




cl

(5-2 #R7—9AHFIE (010,020) )

M | @5~V No.010 (PGM20) * BEER 1200 rom £I | @ /(5—YNo. 020 (PGM 20) X HERR 1200 rom
i & wE
1 B m PR = 1 - -
2 RO 2 e -
3 FE2RER 3 - -
4 HEAN 2 {12) T — R U BT 4 - e
5 ZEED A TENETH 5 - -
B8 5 2 (P=3.8 mm) BUAD 6 - -
7 AR B {0 B) FEDD O RIATINAAFE 7
8 # 2 (P=3.8 mm) BEUAD 8 - -
o] Ao (<) FUDESON 9 - -
10 10 NERHS B INFABERE
13 Forloo on 100 msec 11 T A 60C msec
12 HELEAH 8 08 THRE O (F1E) 12 - b
13 THREDF 1 LA (D B) 500 msec 13 - A
14 HEHT 8 08 TR0 RS, (R 14 - —
15 HNEpLA 4 @4 LD UBREY (BlE) 15 - -
186 F oAl on 100 msec 16 — -
17 SEfEA B {05) R0 RE) (FiIE) 17 - -
18 ERDF LA {DB) 500 msec 18 e -
19 R B {0 b) LARUoEE (#iR) 19 . -
20 Fa oA on 100 msec 20 - —
21 HE;EH 4 {0 4) iR o0 USRS (#5E) 21 - —
22 NEBHP6 (08) hnsE T ez - -
23 HEAH 2 2 Y 1B LT 23 - —
24 oA on 100 msec 24 - -
25 BT 2 RaiEiR 25 - -
AEARERE 14sec+a DA 1.8 sec
FEI0 i 1.5 s8¢ FRUIDASESE 1.8 sec

From the library of: Superior Sewing Machine & Supply LLC




el

¥ Sewing speed : 1,200 rpm ¥ Sewing speed : 1,200 rpm
Procedure (D Pattern No. 001 (PGM20) Procedure | (2 Pattern No. 002 (PGM20)
Remarks Remarks

1 Origin Mechanical origin 1 — —

2 Jump feed 2 - —

3 2nd origin 3 — -

4 External input 2 (12) Sensor waiting position check 4 — —

5 Jump feed Moving to sewing start position 5 — —

6 Sewing (P = 3.8 mm} Entering reverse feed stitching 8 — —

7 External output 6 (0 6) | Starting heating from 9th stitch before thread trimming 7

8 Sewing (P = 3.8 mm) Entering reverse feed stitching a — —

9 Thread trimming (C) Thread trimming signal ON e e -—

10 10 External output 6 Starting heating
11 Delay (D 1) 100 msec 11 Delay 500 msec
12 External output 8 (0 8} Bobbin thread trimmer drive (forward) 12 — —

13 Bobbin thread trimming delay (D 5) 500 msec 13 — -

14 External output 8 {0 8) Bobbin thread trimmer drive (backward) 14 — —

15 External output 4 {04) Needle thread feeder drive (forward) 15 — —

16 Delay D2) 200 msec 16 - e
17 External output 4 (04 Needle thread feeder drive (backward) 17 — ——
18 Delay (D 1) 100 msec 18 — —
19 External output 5 {05) Needte thread trimmer drive {forward) 19 — —
20 Needle thread trimming delay (D 5) 500 msec o0 — —
21 External output 5 {0 5) Needie thread trimmer drive (backward) 21 — —
22 External output & (O 6} End of heating 29 — —
23 Externat input 2 (12) Sensor waiting position check 23 — —
24 Delay D1 100 msec 24 — —
25 End Return to 2nd origin 25 — —

Heating time t4s8c+ Heating time 1.8 sec
Tetal thread trimming time 1.5 sec Total thread trimming time 1.2 sec

From the library of: Superior Sewing Machine & Supply LLC




14!

(52 Sewing data input procedures (010, 020) )

Procedure @ Pattern No. 010 (PGM20) * Sewing speed : 1,200 rpm Procedure | @ Pattern No. 020 (PGM20) * Sewing speed : 1,200 rem
Remarks Rermarks

1 Origin Mechanical origin 1 — -

2 Jump feed P - —

3 2nd origin 3 — —

4 External input 2 (12 Senscr waiting position check 4 — -~

5 Jumg fead Moving to sewing start position 5 — —

6 Sewing (P = 3.8 mm) Entering reverse feed stitching 6 — -—

7 External output 6 (O 6) | Starting heating from 9th stitch before thread trimming 7

8 Sewing (P = 3.8 mm} Entering reverse feed stitching 8 — —

9 Thread trimming {C) Thread trimming signal ON g — —

10 10 External output & Starting heating
11 Delay omn 100 msec 1 Delay 500 msec
12 External output 8 (08) Bobbin thread trimmer drive (forward) 12 — —

i3 Bobbin thread trimming delay (D 5) 500 msec 13 — -

14 External output 8 (O B} Bobbin thread trimmer drive {backward} 14 — -

15 External output 4 (04 Needle thread feeder drive (forward) 15 - —

16 Delay D1 100 msec 16 — —

17 Needle thread trimming delay (D 5) Needle thread trimmer drive (forward) 17 — —

18 "Delay {D5) 500 msec 18 — —

19 External output 5 (0 5) Needle thread timmer drive (backward) 19 —— -
20 Delay (3D 100 msec 20 — -
21 External output 4 (0 4) Needle thread feeder drive {backward} 21 — -
22 External output 6 (O 6) End of heating 22 — —
23 External input 2 (12) Sensor waiting position check 23 — —
24 Delay (01 100 msec 24 — —
25 End Return to 2nd erigin 25 — -

Heating time 14sec+ & Heating time 1.8 sec
Total thread trimming time 1.5 sec Total thread trimming time 1.9sec

From the library of: Superior Sewing Machine & Supply LLC




E—bAywd—ZEHEUAETE, T2 L &Y U I —DOEROGRIBFEET 5. VU9 —
LY —H 2 BAERETNTVERT .

¢ I5—RABN
ARUDEMELDHET UTH, BV U VY -DERABICRS VI, BRIEAREC, &Y UYY—
PERERUEICEVCHEREMMUBIC IS —0REL, TV VORSZEELESEET.,

€ IS—FREEOMLSE
O HY UL, TSI >BDHRUBE TR TRIVEVWI EPEBI SNET,
I7—OftfaE—REL U, FEDICTHEDOHERE L TIZETL,
@ YUV TV T —DUER TN TS ZEDEABNET,
HRUBIKET, YU Y- —0OReS 7 (LED) BrIJUTWhSHhEDZEEEIZEWL,.
SUTHELOULTCWRIE Y —EERUEEDHRES YT (LED) iRl 2 ABICHD X
THREBUBEEELTLEEW,

¥ YUY —EUY—OUBRERET > CTHI Y ITHUIUVIEVIESEE, B2 —0— FORRECE.
LU —-BREORENER SNEY, RFDOUS - EEMICTHERIES LY,

This sewing machine is mounted with the heat cutter and two cylinder sensors are set for safety in order to
check the normal waiting positions of the respective cylinders.

€ Purpose of error detection
An error occurs when respeciive cylinders do not return to the waiting positions in spite of finish of thread
trimming action or when the control unit has judged that respective cylinders are not in the normal waiting
positions at the lims of turning on the power or the like and the sewing machine is stopped to run.]

€ Cause of error and the corrective measure

@ It is considered that respective cylinders are caught on something and cannot return to the waiting
positions when they are in operation. Temporarily stop the air supply, and make sure of the motion of the
cylinders by manual feeding.

@ Itis considered that the position of sensor attached to the cylinder is shifted. Make sure whether or not
the red lamp (LED} of the cylinder sensor lights up when the cylinder is in the waiting position.
When the lamp goes out, loosen the sensor fixing screw and adjust the red lamp (LED) to the position
where it lights up. Then fix the screw again.

#* When the lamp does not light up after the position of the cylinder sensor has been adjusted, disconnection
of the sensor cord or trouble of the sensor itself is considered.
Consult our nearby branch or business office,

15
From the library of: Superior Sewing Machine & Supply LLC



(7. z0OFES )
@ ZYUUY—ILEHET DD, DL JEINIERLY, '
(BT OAYNBACERELESMTEONIES. TORBICBVLTARYID MBI TEE B A,.)
O FFROEBE. £ a—-XHWINTWS, = o — L3548, (YA LASTEa3—X1A)
@ FFRYUDEEDE—5—— RH, RUEHFTEMABEZIRECULTVLD, = RUHEhIESE,
@ THROBA. YUVI—RT—ZOMADICED YU VI —FERICARHEND., TV R
O—2 £ T REBHOEREL TWLEL,
ap T 7 —{HSHEERT L, ) 5 —FEROS | 2B BN & FHERT D BRIDGDIEE.
)2 T —0DEEIE.

RNOBEBRICKD. BERNNRIIDESNBHET,
FORE. FHSIROEEROS > BN DOBERELD ETOTTEEZ AL,
@ ETFEMSAROTEE. = (SB35,

¥ i, TREIBRTETCTHREDHUMMERULICWEGH B D ET. FOBEEIE. MERDDE
HEAlcBUTEREZ EIFCIIEEW, (TEHEd, g2k o 1/2 [08E)

& SVUVY-RBENET DN, ROPEERICTIND.
® MEAERESEL. = NARBDILE. F/cEd, EFRUDT « LA 54 LOEE, HES-1
® ARUIDMIERENG > TV, = (1EH LB,

EhHOET. TOE., RYUDABHNFNTRYDFRELDETOT. BVAR (EHEELTR

%izr—ﬁm’(biﬁhlt_dib FIDEMO.EARERD HUE. REZUED #2550 BIRPTULES
Do) PEULEVWEANSBEDLEZSRVLLET .

@ THRREARZITOTEFHEETECND, = THRIDDEZERROMERE,
(IEEE ROEREO 1/2 LIFHIEE)

BERZIIDBIITCERE LTS, = @S CMEREDERUIBEE,

@ TERRICR<THICE > TVND, & RITDERE,

€ SARDELRDICIRIFTULE S,
R D OROANTND. = RIDET,
@ EERFEDEHMLEL. & EREDHULY ) VI —DANO—-0E%F%<T 5.
@ HOXSZ(CHUTHROIBIT ED, HIUDSRDIRIIBL. = BEFEKSOHERIRT .

% - & - #HUHA ROBERBG WEME, BERE
AR #O~ 1 - #2~5 #8~ 20
& LA % #26 - 2b #25H - 24 #2322
(ZaAwwy Nm 230 - 200 Nm 200 - 180 Nm 160 - 140
FHIVHA K w45 pd45or 935 ¢ 3.5
Bt B 3 x 4.4 mm

16
From the library of: Superior Sewing Machine & Supply LLC



€ THROUGEIDREL.
@ REVT—ANOORZEDEHREL,. » TREDHULEZLT 3.
THROFNNRTED. B REV T —URICH U TRAMRRTHHR. —EDRACTTH
BSIEHERV. RE o —2ADEREZETT .

€ BULBTHEL,
® FHHNXTIDWVWTERY . EOREHIREICH TS £,
wp $H7VHA FONRNBBHORES[CHUTKRETED, #HTUA FOTEENELT D,
EIRURE, = ZYAZVTEEDED.
= FHONRCHUARPHTET, BU—THBREEL TV,
FREBX OEIR. & #25 (Nm 200) RohEiBz (B1817210DAE) ICT
%o 124 = D4008D 10NAH
@ ROESTEV. = FGEFIICORDOIRER. 772 3 VOEIRBTZHAT .
RUMNFEL. & HRACLDRUN T3 /DT—-RILI—5—ZEHT D,
= HFEDICRDBRVLARYN, $HEST—F—FEEL CEREVLVERITD,
ARODETE<N. o FBRRANBIED, wRNDZETTD. Ffld, BIRBFEHHT D,
= T2 2REERT %,
@ ERHE< RBKND,
= EOFE S ER/UVVRESICIDROMORD BFEE, D DBRUVREZERERT 5.
= FRORZ NTD. Fold, BIRBTFZEHUTRICEHDDEREZDHEED.
w E A RO—2%&NELT D,

17
From the library of: Superior Sewing Machine & Supply LLC



€ Thread is not trimmed at all aithough the respective cylinders operate.

(When thread breakage detection or temporary stop during heating is performed, thread trimming

heating in the sewing cannot be performed.)

(D In case of needle and bobbin threads, the fuse has blown. = Replace the fuse. (Time-lag fuse 1A)

(2 Contact trouble of heater cords of the needle and bobbin thread trimmers has occurred due to loose screw.
= Make sure of tightening the screw.

3 In case of bobbin thread, a load is applied to the cylinder when it goes and back by the bend of cylinder
stay or the like, and the lower hot-wire does not reach {o the end siroke.
= Stop the air supply and check that the cylinder is not caught with anything when it goes and back.

When there is a load, correct the cylinder stay.

~, There is a case where the insulating plate is fused by excess of thread trimming time.
alRio|
At this time, this phenomenon becomes a main cause that the lower hot-wire plate is caught when

it goes and back. So, be careful,

(@ Breakage of upper/lower hot wire plates =» Replace the broken plate with a plate supplied with the
machine.

# In addition, there is a case where bobbin thread feeding is hard to function since bobbin thread tension is
excessive. In this case, turn the knob of air regulating valve clockwise to increase the air pressure.
(Air pressure has been decreased to approximately 1/2 of the supplying air pressure at the time of delivery
from the factory.)

€ Respective cylinders operate. However, thread is not sufficiently trimmed.
(5 Heating time is short. ® Lengthen the heating time. Or, lengthten needle/bobbin thread delay time.
ftem &5-1
(6) Needle thread trimming position is not properly adjusted. =» Recheck the positioning.

There is a case where one stitch at the last sewing section slips from the material when needle
- thread is fed immediately before thread trimming in accordance with the sewing data or materials,
At this time, take the corrective measure such as sewing direction (ending in the right-hand
direction sewing) or entering the reverse feed stitching since thread trimming position is shifted
resulting in thread trimming failure.

(@ Clearance between lower hot-wire plate and hot-wire support is excessively wide.
= Adjust the position of the whole bobbin thread trimmer.
(It is ideal that the clearance is less than 1/2 of the diameter of thread.)
Hot-wire support is fused and deformed. = Turn the support to change the contact position with the
hot-wire plate.
(@ Waste thread collects on the lower hot-wire plate. = Remove the waste thread.

€ Needle thread slips off at the start of sewing.
Thread comes off from the needle thread presser. ® Pass the thread.
@ Amount of the remaining thread is small. = Increase the stroke amount of needie thread feeder cylinder.
(2 Thread is too thin for the thickness of needle. Thread is apt to slip off from needle eyelet.
=) Select a needle of optimum thickness.

18
From the library of: Superior Sewing Machine & Supply LLC



Application example of thread, needle and needle hole guide

* marks mean the parts provided as standard.

Thread #0to i #2105 #81t0 20
Needle (ORGAN) % #26 and 25 #25 and 24 #23 and 22
(SCHMETZ) Nm 230 and 200 Nm 200 and 180 Nm 160 and 140
Needle hole guide * ¢ 4.5 @a450re¢ 35 @ 3.5
Oval neadle hole guide 3 x 4.4 mm

€ Bobbin thread cannot be knotted.
3 Amount of remaining thread from bobbin case is short. ® Increase bobbin thread feeding amount,
Bobbin thread tension is excessively high, = Bobbin thread cannot be drawn out at a fixed tension since

€ Sewing is not properly performed.
@9 Material flops and stitch skipping occurs. The inside part of material comes out on the surface. Change

of color

the tension in terms of bobbin case specification is a limit,
Decrease the spring pressure of bobbin case.

= Hole diameter of the needle hole guide is too large for the thickness of needle.
Decrease the hole diameter of the needte hole guide.
Stitch skipping occurs. =» Adjust the hook timing.

=» Thread is to0 thin for the needle eyelet and loop on the back occurs.

Select shuttle race ring asm. E (B1817210DAE) for needle #25 (Nm200).
Standard = D4008D10NAH
D Thread is not tightened well. = Tension with tension disk is a fimit.

Use the optional thread tension No. 3 together.

Thread breakage occurs. = Thread breakage by needle heat Use the optional needte cooler.

my Sewing thread is broken by needle sticking.

Change the needle entry data to avoid double stitching.
Hangnail of thread =b Needle thread tension is excessively high. Decrease the tension.

@ Single yarn floats. Thread wobbles.

=» Return of twisting occurs by hardness of material and high thread tension.
Use a thread of which the twist is strong.

=» Decrease needle thread tension.

Or, use thread tension No. 3 to disperse the friction applied to thread.
= Decrease the intermediate presser stroke,

Or, use thread tension No. 3 together.
= Use silicone oil.

19

From the library of: Superior Sewing Machine & Supply LLC



Oc

(m. 70w ZE / BLOCK DIAGRAM )

E#D D WEEH
NEEDLE THREAD TRIMMER VAL,

FERD L L IR
AMS BRMRw 2 X THREAD FEEDING VAL,

AMS CONTROL BOX !

TOP CYL. HP, Sen.

h A

Sen.

TA DB
BOBBIN THREAD TRIMMER VAL,

i
I
i
[l
BOTTOM CYL. HP. L
1
1
I
1

D5004D30PAP -

D5011D10NAH | it 5 [OPTION]

YU SENSOR RELAY CORD % %3 XATFEES
CYLINDER SENSOR ASM. - THREAD TENSION No. 3 VAL,

o

fr————————=

b

_ : | - [OPTION]
v Z— R~ S~
NEEDLE COOLER VAL.

P18

AMS SOLENOID
QuUT MG.

| S
Js ! 79 Jr9 i MAG.

J17 Pi7
J81 P81 P16 | J16 I TRM MG.

AMS SW/Sen.

X ORG. DSo0iDI10PAP
Y ORG.DIR I BEHY— I AR
TH BREAK AMS MAIN Eix : SOLENOID VALVE CABLE A ASM.

STOP SW AMS MAIN CIRCUIT
BOARD ASM. - — ~ —‘

AMS AIR VALVE
AR SW

AR OPRER

l AR OPREL

L
| P33 |J38 J3r| P37 CN3 AIR IPRE
AMS R M5 AE AMS -

AMS POWER POWER ELiRs8
TRANSFORMER AMS POWER (o CN5 i

D5020D10NAH
. CIRCUIT BOARD -
LA ASM. AMS PMDC BHRE~ D5026D10NAH T B Tt

To AMS PMDG CIRCUIT C—y—UL—i HEATER
BOARD ASM. HEATER RELAY ASM. | TRANSFORMER

bE—¥--EiF 3~ FIg (DS017D10NAHA) | COMPL.
I HEATER POWER SUPPLY CORD ASM. |

P10 | J10

From the library of: Superior Sewing Machine & Supply LLC



LS

(V. I7—E2EE / AR PIPING DIAGRAM

)

Option- T = =— R}&7—5— I NEEDLE COOLER @/ aTy
Option-@ = £ 3 IHFH / THREAD TENSION No. 3 ASM. = D4012D10NAH Y A PR TG
NC. PART NO. Standard Option- Option-(2
1 PA1003024A0 1
2 PA1604003A0 1
. {220 mm <& 3 PA1004510A0 1
{1300 mm) - (& 4 PJ032052503 7 1 1)
5 PCO012401000 1
& PJ046052503 2
[EE CJ2KB16-E3220-40 7 FJ301065103 1
Lot
Needle Thread Feeding i PFO70501000 2
: 9 PJC20500002 1 (1)
(1370 mm) - 10 | PV035124080 1
1 B4720221DA0 1
) {1450 mm) - & 12| PJ304040504 1
6 13 | pvisos01000 1 (1
14 SMg031B03SE 2

IF—70—=10T
.. Air-Blow Pipe

—— ——

10

(1130 mm) - &

x CDJ2810-45-B

IRV Y—
Needle Thread Trimming Cylinder

5 353 F~/ To THREAD TENSION No. 3
(1400 mm- @)

To Regulator

12
® CDJ2B10-30-B
g THRMO U~
Bobbin Thread Trimming Cylinder

(1100 mm) - @ /

1. 3248 ( Y&, IP—Fa~—T ¢ 4 (BTO400251EB)
2R (- - - Y lE. T7P—F 21— ¢ 6 (BTOB0DA01ER)
1. Full line ( ) 1 Air tube ¢ 4 (BTO400251EBE)

2. Broken line (- - - ~) : Air tube ¢ 6 (BT0600401EB)

From the library of: Superior Sewing Machine & Supply LLC



(V.IX=YUZ /PARTS LIST

1.UPPER HOTWIRE COMFONENTS

22

From the library of: Superior Sewing Machine & Supply LLC



REF.NO_ _MOTE _ _ PART NG, ] DESCRIPTION ___ . ... [ S S Qry |
I DIOI5-DIO-NOH  ADJUST PLATE Favin’y 1
2 S5S8-2111010-TP  SCREW 11/64-40 L=9.5 ¥Ry 11/64-40 L=9.5 2
3 121-14716 PRESSER REGULATOR SCREW APLFattyzy’ 1
4 121-14807 PRESSER REGULATOR NUT AL Favidivh 2
5 D1001-PL1O-NOH  FIXED PLATE 17444 1
6 B2549-372-000 CLAMP SCREW A EFX¥LRT - PARY A 1
7 B3125-165-000  DISK SPRING 703 2
8 SD-0550451-5P  HINGE SCREW 2 yiy 2
9 WP-0531001-SC  WASHER S5 el M-Iy 30 - 1) 1

10 B3418-245-000  SPRING HOLDER b TE Fan auy 1

11 SS-8110422-TP SCREW 11/64-40 L=4 MAZY 11/64-40 L=4 i

12 SL-4040891-SC  SCREW M4 L=8 ¥ 29% FATIRY M4 L=§ 3

13 D4001-D10-POP  SLIDE SHAFT GUIDE AN 3 A AN l

14 D4002-P10-POP  HEATER SHAFT FIXED BASE [ B SUNC YU 1

15 14003-D10-POP  CYLINDER FITTING BASE YA -S4 1

16 D4004-D10-POP  HOT-WIRE PROTECT COVER FIEVET AN - 1

17 D4005-DI0-POP  HOT-WIRE SHAFT NIRFEYY Y 1

18 D4006-D10-POP  EOT-WIRE JRFILYY B 1

19 D4007-B10-PGP  HOT-WIRE PLATE 3Iev{a 1

20 D4008-D10-POP  HOT-WIRE GUIDE PLATE AT A 2

21 D74009-D10-P0P  UPPER HOT-WIRE FITTING PLATE PEFFEY AP AA ]

22 D4010-D10-POP  UPPER HOT-WIRE COVER BIRTEVIR - i

23 SM-8041552-TP  SCREW M4 L=15 hARS 2

24 SM-9041050-SC  SCREW M4X0.7 L=10 nyhrE Ah M4X0.7 L=10 2

25 NM-6040003-SC  KUT M4 nyhrFyh M4 4

26 WP-0430801-8C  WASHER 4.3X0X0.8 b3 h A 4, 3X9X0.8 7

27 WS-0410002-KN  SPRING WASHER R R M4 5

28 SL-4030691-8C  SCREW M3X6 Fat a3y LAZ M3X0.5 L=6 4

28 SL-4041091-8C  SCREW M4 L=10 Faazy bAZ M4X0.7 L=10 2

30 $5-7060310-8P  SCREW 3/32-56 L=3 Thb7ay 3/32-56 L=3 3

31 PA-1004510-A0 AIR CYLINDER IFvE ]

32 PX-5000500-A0  BRACKET MyF W IIF b ]

33 PJ-0460525-03  HOSE ELBOW -2 1R 2

34 CH-3003060-01  SEAL IEVFao{y-L2(16) 1

2

D5021-DI0-NAH

HEATER CORD ASM,

b-83-b" 73

From the library of: Superior Sewing Machine & Supply LLC

23



2. LOWER HOT-WIRE COMPONENTS
T EEBHER

From the library of: Superior Sewing Machine & Supply LLC

2 .
16
REF. NO  KOTE _ PART ¥O. DESCRIPTION [ I | Qty
1 B4017-010-POP LOWER THREAD FEEDER YA Ry 1
2 P4018-B10-POP LOWER HOT-WIRE FHRTLY I
3 D4019-Di0-POP THREAD TRIMMER BASE ThEIa -2 i
4 D2001-D10-KOH CYLINDER STAY v A5 1
5 D20G3-110-N0H GUIDE BASE FRAVRTE AN A A 1
6 D20G4-D10-NCH GUIDE BAR Ty I
7 12005-D10-NOH COVER 3130 - i
8 D2007-DHO-NOH INSULATING PLATE G L IryLhG 1
9 PA-1003024-A0 AIR CYLINDER I7-yva |
10 PI-0320525-03 HOSE NIPPLE F02=97° 1
] PX-5000500-A0 BRACKET AA9F MO0y W i
2 PJ-3040405-04 ELBOW UNION IR 1=3Y 1
13 §5-4110615-8P SCREF 11/64-40 L=6 #a23% 11/64-40 L=6 2
14 55-4060310-5P SCREW 3/32-56 L=2.5 A 3Y' 3/32-56 L=2.5 2
15 SM-4040501-8N SCREW M4X0.7 L=5 I 3330 M4X0,7 1=5 [
6 - SH-8030302-TP SCREW M3X0 5 L=3 T #3539 WaX0.5 L=3 1
17 SM-0040601-5C SCREW M4X0.7 L=6 P92y M4X0.7 L=6 2
18 $M-4031851-SR SCREW FATa39 M3 L=18 2
19 SM-1030801-5C SCREW M3 L=8 $3133" M3X0.5 L=8 2
20 NM-6030001-5C NUT M3 nyhrdsh M3X0,5 132 2
21 WP-0430800-5C WASHER Md Y33H 3 ap Avh M4 3
22 WP-0320500-SC WASHER M3 E3% A3 1P ATA M3 4
23 WS-0310002-KN SPRING WASHER M3 A3 3.1X5.9%0.7 4
24 CH-3003000-01 SEAL IR ¥-A2(16) 1
25 #01  D4018-DI0-POP-A  LOWER HOT-WIRE VIS ELZ S 1
NOTE (33) #01....0PTIONAL PARTS A7 Yavih sk
24



3.NEEDLE THREAD FEEDER COMPONENTS

B U BR
7
2‘ I
/
11
11

REF. NO_ _NOTE PARTNO. D ESCRIPTIOQN v v 2 4 ______. Qty

I D4011-D10-PGP  CONNECTING ARM Wy 2

2 D4012-D10-POP  V FORM CONNECTING ARM Vi alyires 1

3 D4013-D10-P0OP  CYLINDER CONNECTING ARM pANE MR LM 1

4 D4014-D10-POP  UPPER THREAD EXORCIZE BI{pn 74 1

5 D40i5-D10-POP  CYLINDER STAY IR -3 - 1

6 D4016-D10-POP  FITTING BASE TILRN PRI E 4 1

7 8S5-911101¢-5P  SCREW [1/64-40 L=9.5 nyyyE A 11/64-40 L=9.5 2

8 WP-0450801-8I  WASHER 4.5X10X0.8 7% b % 4.5X10X0.8 2

9 WP-0531001-5C  WASHER bI¥ R SR MB 2
10 WS-0510002-KN  SPRING WASHER AP Y R 5,1K8.2X1.3 1
11 SD-0640271-TP  HINGE SCREW a2 Ry 6
12 PA-1604003-A0  AIR CYLINDER I7-39va 1
13 P}-0320525-03  HOGSE NIPPLE FIZ=IT R 2
14 55-4111015-8P  SCREW 11/64-40 L=10 Fat 2y 11/64-40 L=10 4

25

From the library of: SUperior Sewing Machine & Supply LLC



4.SOLENOID VALVE & OTHER COMPONENTS (1)
HES - TOMBAR (1)

REF, NO_ _NOTE _ PARTNO. _____ ... DESCRIPTION . __. IR S S Quy
1 PV-0351240-B¢  SOLENOID VALVE ASM, Fuy Ay (43} 1
2 PJ-3010651-03  HALF UNION GXPTL/8 n-72zhy 1
3 PF-0705010-00  PRESSURE DECREASING VALVE IzFaF TN Y 2
4 PJ-0320625-03  HOSE NIPPLE FIR=T7° R 4
5 SK~3312500-SE  WOOD SCREW D=3.1 L=25 IErey D=3.1 L=25 2
6 WP-0320600-5C  WASHER M3 EFE A 3 a2 Ak M3 2
7 BT-0400251-EB  URETHANE HOSE, BLACK LavE-2 7.6
8 BT-0600401-EB  TUBE f1-7 0.8
9 MAT-81163T00 CORD HOLDER MR 1
10 B1145-210-000  INSTALLING BASE NIAMAYL $ 958 4 1
11 101-29104 THREAD PRESSER PLATE VEIY SAE L) 1
12 B1132-521-000  THREAD PRESSER PLATE SPRING MM ABITR M % 1
13 S§§-70909i0-SP  SCREW 9/64-40 L= 8.5 ThE22Y 9/64-40 L=8.5 1
14 SD-(:380551-SL.  HINGE SCREW D= 3 .80 H=5.5 4 73% B=3.8 H=5.5 1
26



5. SOLENOID VALVE & OTHER COMPONENTS (2)
BRS - TOMBR (2)

1 D4005-D10-NOH  NEEDLE PLATE SUPPORT COVER(AL) ALIYANLEES" apn’ - 13
2 D4006-D10G-NOH  COVER SHEET e =y-h 1
3 D4007-D10-NOH  CYLINDER ARM CAP ALIGHTAN - l
4 D4008-D10-NAH  SHUTTLE RACE RING ASM, ,H FhY eRESYI g 11
5 B1828-210-BAC  BOBBIN CASE ASNM, #kvr-ags I
6 B1806-210-B0A  BOBBIN ey 1
7 BI815-210-BOA  SPRING AXH 9YIN R 1
8 D4009-D10-NOH  SHUTTLE DRIVER (FOR #8) b7 N - 1
9 MDP-17082600 NELDLE DPX17 #26 nY DPX17 426 1
10 B1601-210-D0OC-A TNTERMEDIATE PRESSER C HiA¥zC 1
B D4001-D10-NOH  NEEDLE PLATE Ve 1
12 D4002-D10-NOH  NEEDLE HOLE GUIDE b=4.5 4. 5007 4 1
13 #01 D4002-D10-NOK  NEEDLE HOLE GUIDE B=3.5 3.5 HY A 1
i4 #01 D4021-DP10-POP  ELLIPSE NEEDLE HOLE GUTDE 2 2ynITHE A 1
15 D4004-D10-NOH  HOT-WIRE SUPPORT Tytvoy 1
16 §5-2060320-SP  SCREW 3/32-56 L= 3.2 A7y 3/32-56 L=3.2 3
17 D4003-D10-NOH  INSULATING PLATE F tr J1v4{aF i
18 HX-0015000-08  CABLE CLIP y-7"0 29r 3
19 S5-4110915-8P  SCREW 11/64-40 L=9 Far 33 11/64-40 L=9 3
20 01 MDP-170B2500Q NEEDLE DPX17 #25 »Y DPXI7 #25 |
21 #01 B1i8§17-210-DAE  SHUTTLE RACE RING ASM. ,E P IRk Y i

NOTE (y58)

#01. .. . OPTIONAL PARTS

[

F WA EVE- (0

27

From the library of: Superior Sewing Machine & Supply LLC



6. ELECTRICAL EQUIPMENT COMPONENTS

1 SL-4031481-SC  SCREW M3 X 14 Fat a3y bAZ M3X0.5 L=1i4 2
2 HX-0033900-00  STUD N YN ¥ 4
3 NM-6030001-8C  NUT M3 ooyt M3X0,5 172 2
4 WS-0310002-KN  SPRING WASHER M3 MR 3 3.1X6.9K0.7 2
5 WP-0320500-SC  WASHER M3 vIE AT oo 4k M3 2
6 D5O01-D10-PAP  SOLENOID VALVE CABLE A ASNM. FYIN UE-TRAYR 1
7 D5004-D10-PAP  SENSOR RELAY CORD vifanr{3-p 1
8 D5011-D10-NAH  CYLINDER SENSOR ASM, bLVE SR & U 1
9 SK-3451601-8C  WOOD SCREW eIy 4
i D5017-D10-NAH-A HEATER POWER SUPPLY CORD ASM. -2 vy va-p IR 1
11 {IF-0014001-00  FUSE ba-%° 2
12 D5026-D10-NAH  HEATER RELAY ASM. t-a--73 1
13 D5025-D10-NOH  HEATER RELAY INSTALLING PLATE b= -h P14 1
14 D5020-D10-NAH  HEATER TRANSFORMER COMPL. L-ahvRYYsI 1
15 G5604-341-000  TRANSFORMER COVER 7N - 1
16 D5021-DIG-NAH  HEATER CORD ASM, t-fa-b 73 4
17 D5022-D10-NAH  HEATER TRANSFORMER ASN, t-2bFVAR 1
i8 SL~-4040891-5C  SCREW M4 L=8 B RYE FAT a3 M4 L=8 4
28



From the library of: Superior Sewing Machine & Supply LLC



JUKI B4t

JUKI CORPORATION

INTERNATIONAL SALES DIVISION

Copyright ©) 2000 JUK! CORPORATION.
AEONEEERNCHEE BETLILER
WELEY,

All rights reserved th%t

To order or for further information, please contact :

COEBOENACOVWTFHERAS D E L OBROOBEFTENF U BEHIISHHEDEEEW,
% COHRMHAZ / 1Y U R MUHSUBROROTFEYLEETIBNSEDET.

Please do not hesitate to contact our distributors or agents in your area for further information when necessary.
* The description covered in this instruction manual / Parts list is subject to change for improvement of the
commodity without notice.

00 - 10 Printed in Japan {E)





